

## Exhibit A

**Browning & Meyer Co., LPA**

300 W. Wilson Bridge Road  
Suite 250  
Worthington, OH 43085

Ph: 614-471-0085

Fax: 614-430-8132

Sandra Cleaver, Esq.  
4917 Munson St., N.W.  
P.O. Box 35007  
Canton, OH 44735

May 30, 2014

**Attention:**

File #: 4987-litm

Inv #: 35107

**RE:** Medicaid Litigation for Carole L. Hughes

DATE	DESCRIPTION	HOURS	RATE	AMOUNT	LAWYER
Jun-29-10	Conference call with Akron counsel; work on Complaint;	1.70	\$435.00	739.50	WJB
Jul-19-10	conference with law clerk Prepare complaint and conduct legal research; develop factual recitations for both Hughes and Bardin plaintiffs	4.70	\$125.00	587.50	DSB
Jul-20-10	Prepare complaint for declaratory and injunctive relief for us district court northern district of Ohio for both Hughes and Bardin, combined complaint, with legal research.	3.10	\$125.00	387.50	DSB
Jul-29-10	Second draft of complaint including specific IRA sections and fourth cause of action for violation of equal protection clause; requisite legal research regarding same	2.40	\$125.00	300.00	DSB
Aug-10-10	Prepare exhibits; redact exhibits; cite-check all statutes, print, tab, and submit to Attorney Browning for final review; contact Cleaver's office to retrieve denial notice; final edit of complaint;	3.60	\$125.00	450.00	DSB
Aug-11-10	Review complaint; meeting with Attorney Browning	0.60	\$435.00	261.00	RFM
	Work on final version of federal court complaint; Revise Motion for Stay; Draft Common Pleas Court brief	5.70	\$435.00	2,479.50	WJB

	Final preparations of complaint; final changes; preparation of Motion to Stay Administrative Appeal; research for Common Pleas Brief; preparation of other briefs for Attorney Browning to reference as he drafts the common pleas brief	4.50	\$125.00	562.50	DSB
Aug-12-10	Work on Common Pleas Court Brief	2.40	\$435.00	1,044.00	WJB
Aug-17-10	Application for Admission to Northern District of Ohio	1.10	\$125.00	137.50	DSB
Aug-18-10	Draft letter to AG concerning stipulations	0.50	\$435.00	217.50	WJB
Aug-24-10	Review and save time stamped copy of filed Complaint	0.30	\$125.00	37.50	DSB
Sep-24-10	Review of Memorandum Contrary Stay and Brief; Work on Reply Memorandum	1.90	\$435.00	826.50	WJB
Oct-05-10	Work on Reply Brief	0.80	\$435.00	348.00	WJB
	Work on Reply Brief	0.50	\$125.00	62.50	DSB
Nov-19-10	Draft memo in opposition to motion to dismiss	7.30	\$125.00	912.50	DSB
Nov-22-10	Conference with law clerk concerning 2 Memorandum Strategy	1.00	\$435.00	435.00	WJB
Nov-23-10	Work on Memorandum Contra; Review of Rorick decision	0.90	\$435.00	391.50	WJB
	Draft merits of memo & opposition & motion for summary judgment	5.00	\$125.00	625.00	DSB
Nov-29-10	Work on Merits portion of memo in opposition	7.00	\$125.00	875.00	DSB
Nov-30-10	Work on Memorandum Contra	0.90	\$435.00	391.50	WJB
Dec-01-10	Work on Memorandum Contra; Conference with law clerk	1.80	\$435.00	783.00	WJB
	Continue work on memorandum in opposition, particularly the merits and incorporating Attorney Browning's changes; inserting pincites to the record	3.10	\$125.00	387.50	DSB
Dec-02-10	Final review and revise of memo in opposition, submission to Attorney Browning	2.90	\$125.00	362.50	DSB
Dec-03-10	Review final version of Memo for file; meeting	0.80	\$435.00	348.00	RFM

Invoice #:	35107	Page 3	May 30, 2014			
Feb-01-11	Review of pleadings and strategy; Review of new assignment; Telephone conference with Sandra Cleaver concerning status	1.00	\$435.00	435.00	WJB	
Mar-16-11	Prepare notice of additional case authority Bernard v. Kansas Health Policy Authority.	0.70	\$125.00	87.50	DSB	
Apr-20-11	Review email from Mark Fowler regarding motion for Status Conference and draft motion for submission accordingly	1.80	\$125.00	225.00	DSB	
Apr-22-11	Notice of Supplemental Authority review from Attorney Browning, ready to file	0.30	\$125.00	37.50	DSB	
Apr-26-11	Review order on motion and calendar status conference	1.00	\$125.00	125.00	DSB	
Jun-03-11	Telephone conference with S. Wright and S. Cleaver	0.40	\$435.00	174.00	WJB	
Jun-10-11	Telephone conference with T. Semple	0.30	\$435.00	130.50	WJB	
Jun-21-11	Prepare for Status Conference; attend status conference by phone	1.30	\$435.00	565.50	WJB	
Jun-24-11	Telephone conference with co-counsel	0.40	\$435.00	174.00	WJB	
<b>Aug-31-11</b>	<b>Check docket, status</b>	<b>0.20</b>	<b>\$125.00</b>	<b>25.00</b>	<b>DSB</b>	
<b>Sep-01-11</b>	<b>Docket report to Cleary Law Offices</b>	<b>0.70</b>	<b>\$125.00</b>	<b>87.50</b>	<b>DSB</b>	
Oct-31-11	Draft Supplemental Authority Notice	0.60	\$125.00	75.00	DSB	
Nov-02-11	Finalize notice of supplemental authority	0.30	\$125.00	37.50	DSB	
Nov-04-11	File Notice of Supplemental Authority	0.40	\$125.00	50.00	DSB	
Nov-21-11	Emailing Samantha Baum at Cleaver Law Office	0.20	\$205.00	41.00	DSB	
Nov-29-11	Telephone conference S. Wright; Work assignment to law clerk contact court; draft letter to T. Semple	0.80	\$435.00	348.00	WJB	
Nov-30-11	Draft letter to Nursing Home	0.30	\$205.00	61.50	DSB	
Dec-01-11	Revise letter to T. Semple	0.20	\$435.00	87.00	WJB	
Dec-07-11	Call court to determine how a status conference or hearing can be established.	0.30	\$125.00	37.50	DSA	
Jan-30-12	Arrange telephone conference with attorneys and Attorney Browning	0.40	\$205.00	82.00	DSB	

Feb-27-12	Discussion with Associate on injunctive relief	0.60	\$435.00	261.00	RFM
	Meeting with Attorney regarding briefs	0.80	\$435.00	348.00	RFM
Feb-29-12	Research and work on injunctive relief	1.50	\$205.00	307.50	DSB
Mar-06-12	Work on injunction and affidavits	3.20	\$205.00	656.00	DSB
Mar-08-12	Review of 1st draft of Motion for Injunctive Relief	0.70	\$435.00	304.50	WJB
Mar-13-12	Work on injunction	1.40	\$205.00	287.00	DSB
Mar-15-12	Work on letter to Ms. Cleaver and Mr. Wright regarding injunction	0.30	\$205.00	61.50	DSB
Apr-16-12	Telephone conference with Sandra Cleaver	0.50	\$435.00	217.50	WJB
Apr-25-12	Review of status of filing of Motion	0.30	\$435.00	130.50	WJB
May-03-12	Work on Hughes/Bardin Motion for Injunction	4.00	\$205.00	820.00	DSB
May-10-12	Review of order from court; Conference with Attorney Banas concerning summary memorandum	0.60	\$435.00	261.00	WJB
	Review court order; draft supplemental memoranda; meet with Attorney Browning; research	3.80	\$205.00	779.00	DSB
May-11-12	Review of Memorandum in Support	0.90	\$435.00	391.50	WJB
	Proof reading Attorney Banas' memorandum.	0.60	\$125.00	75.00	DSA
May-14-12	Conference with Attorney Banas concerning filing of brief; Review of briefs filed by the AG	1.50	\$435.00	652.50	WJB
	File Memorandum; Review ODJFS' Pleading	2.00	\$205.00	410.00	DSB
Jun-04-12	Email Stephan Wright analysis memo regarding decision	0.60	\$205.00	123.00	DSB
Jun-05-12	Review of decision; start outline of potential appeal issues	1.60	\$435.00	696.00	WJB
Jun-06-12	Email correspondence with Sue Sokolowski	0.20	\$205.00	41.00	DSB
Jun-18-12	Telephone conference with co-counsel concerning 6th Circuit appeal	0.70	\$435.00	304.50	WJB
	Teleconference with co-counsel concerning 6th Circuit appeal	1.00	\$205.00	205.00	DSB
Jun-21-12	E-file appeal transcript request; Email correspondence with	1.80	\$205.00	369.00	DSB

Invoice #	Description	Hours	Rate	Amount	Client
	Attorney Browning; file Notice of Appeal				
Jun-28-12	Email correspondence with Attorney Browning; calendar docket & briefing schedule; Email correspondence with Sandra Cleaver	0.50	\$205.00	102.50	DSB
Jul-09-12	Email correspondence with Attorney Browning	0.20	\$205.00	41.00	DSB
Jul-10-12	File Notice of Appearance; Civil Appeal Statement; Corporate Disclosure	1.00	\$205.00	205.00	DSB
Jul-12-12	Draft letter to NSCLC and AARP; draft motion for OSBA	1.00	\$435.00	435.00	WJB
Jul-18-12	Email correspondence with Attorney Browning	0.20	\$205.00	41.00	DSB
Jul-20-12	Email correspondence with Sandra Cleaver	0.30	\$205.00	61.50	DSB
Jul-23-12	Email correspondence with receptionist	0.20	\$205.00	41.00	DSB
Jul-24-12	Retrieve Morris Brief from Pacer; Outline Local Rules	1.40	\$205.00	287.00	DSB
Jul-25-12	Email correspondence with receptionist	0.20	\$205.00	41.00	DSB
Jul-30-12	Download Appellants/Appellee's Briefs and Amicus Curiae Brief, scanning documents to file, and printing for Attorney Banas.	1.10	\$125.00	137.50	DSA
Jul-31-12	Conference with Attorney Banas concerning Amicus filings	0.50	\$435.00	217.50	WJB
	Review and revise Amicus request letters; contact AARP, NSCLC, and NAELA; Revise Motion to Elder Law Committee; Prepare letters for mailing with exhibits; Email correspondence with Attorney Browning; Amicus requests	2.20	\$205.00	451.00	DSB
Aug-01-12	Review Motion for OSBA to file Amicus brief; discussion with OSBA on procedures, filing and all other matters	1.80	\$435.00	783.00	RFM
Aug-02-12	Conference call with S. Cleaver	0.50	\$435.00	217.50	WJB
Aug-03-12	Draft Hughes Brief for appeal; research local rules; Draft Hughes Brief	3.50	\$205.00	717.50	DSB
Aug-04-12	Draft letter to client outlining litigation process; draft memo	1.30	\$435.00	565.50	WJB

	concerning policy issues for amicus and our brief				
Aug-06-12	Draft Appellate Brief; Mediation Background Information Due;	5.10	\$205.00	1,045.50	DSB
Aug-07-12	prepare and file; contact clerk Conference with Attorney Banas concerning status of brief and overview of policy arguments	0.70	\$435.00	304.50	WJB
Aug-08-12	Email correspondence with Attorney Browning	0.40	\$205.00	82.00	DSB
Aug-08-12	Research private verses public pension funds for Attorney Banas.	3.40	\$125.00	425.00	DSA
Aug-13-12	Email correspondence with Rene H. Reixach; Drafting brief	3.10	\$205.00	635.50	DSB
Aug-13-12	Work on Brief; attend Mediation conference call	2.10	\$435.00	913.50	WJB
Aug-15-12	Mediation telephone conference; Per Mediation Conference Notice: Debra Chernocki mediator.	1.50	\$205.00	307.50	DSB
Aug-15-12	Conference call with AARP and NSCLC attorneys	0.80	\$435.00	348.00	WJB
	Email correspondence with Rene H. Reixach; Email correspondence with Stacy Canan	0.50	\$205.00	102.50	DSB
Aug-17-12	Call clerk of court; draft suggestion of death; print out entire docket from Northern District of Ohio.	2.00	\$125.00	250.00	DSA
	Telephone conference with Rene Reixach; File Suggestion of Death and Notice of Withdrawal of Appeal; Email correspondence with Rene H. Reixach.	1.20	\$205.00	246.00	DSB
Aug-20-12	Review of Morris decision in greater detail	1.00	\$435.00	435.00	WJB
	Conference with Attorney Banas; work on brief	1.20	\$435.00	522.00	WJB
	Print off entire docket for Attorney Banas. Draft Voluntary Dismissal of Lester and Thelma Bardin and provide to Attorney Banas.	2.00	\$125.00	250.00	DSA
Aug-21-12	Work on brief	1.00	\$435.00	435.00	WJB
	Draft suggestion of death, voluntary dismissal, proofread appellate brief for Attorney Banas.	1.00	\$125.00	125.00	DSA
Aug-22-12	Proofread Appellate brief for Attorney Banas.	2.90	\$125.00	362.50	DSA
	Email correspondence with Kenneth Zeller; Email	0.60	\$205.00	123.00	DSB

	correspondence with Rene H. Reixach .				
Aug-24-12	Email correspondence with Eric Carlson of NSCLC regarding Amicus; Email correspondence with Kenneth Zeller of AARP; Draft Brief	4.70	\$205.00	963.50	DSB
Aug-27-12	Work on brief	1.10	\$435.00	478.50	WJB
Aug-29-12	Conference with Attorney Banas concerning revisions to brief	1.00	\$435.00	435.00	WJB
	Call 6th circuit clerk of court for Attorney Banas.	0.20	\$125.00	25.00	DSA
	Discussion with Attorney Browning; Prepare Brief for Filing	6.30	\$205.00	1,291.50	DSB
Aug-31-12	File Appellant's Brief & Appendix; Send copies to Amicus and Clients and their counsel; Email correspondence with Jessica Emch regarding Amicus effort & OSBA; Email correspondence with Attorney Meyer regarding OSBA amicus effort; Email correspondence with Rene H. Reixach regarding IRA annuity and no transfer	3.90	\$205.00	799.50	DSB
Sep-04-12	All matters regarding OSBA approval; meetings, review of proposals	2.10	\$435.00	913.50	RFM
Sep-20-12	Telephone conference with R. Thomas concerning extension	0.30	\$435.00	130.50	WJB
Oct-01-12	Review emails; meetings with Attorney	0.80	\$435.00	348.00	RFM
	Review of Administrative appeal decision summaries; memo to Attorney Banas	1.10	\$435.00	478.50	WJB
	Email correspondence with Attorney Meyer	0.20	\$205.00	41.00	DSB
Oct-10-12	Email correspondence with Rene H. Reixach and Attorney Browning	0.20	\$205.00	41.00	DSB
Oct-17-12	Draft Reply Brief; Review Appellee's Brief	1.50	\$205.00	307.50	DSB
Oct-18-12	Email correspondence with Rene H. Reixach and Attorney Browning	0.20	\$205.00	41.00	DSB
Oct-19-12	Email correspondence with Rene H. Reixach	0.20	\$205.00	41.00	DSB
Oct-21-12	Review of state's brief	1.30	\$435.00	565.50	WJB

Oct-22-12	Continue review of state's brief; Telephone conference with Attorney Banas	1.10	\$435.00	478.50	WJB
Oct-25-12	Work on Reply Brief	1.10	\$435.00	478.50	WJB
Oct-30-12	Work on Reply Brief	1.10	\$435.00	478.50	WJB
Nov-01-12	Prepare Bluebook citations for Attorney Banas.	0.60	\$125.00	75.00	DSA
Nov-02-12	Proofread appeal for Attorney Banias.	1.10	\$125.00	137.50	DSA
	Review and Revise Reply Brief; Research; discuss with Attorney Browning; Submit	3.50	\$205.00	717.50	DSB
Jan-15-13	Draft letter to client and Sandra Cleaver, Esq.	0.30	\$435.00	130.50	WJB
Feb-06-13	Hughes Prep for Attorney Browning	1.50	\$205.00	307.50	DSB
Feb-12-13	Start preparations for oral arguments	1.70	\$435.00	739.50	WJB
Feb-14-13	Preparations for Oral Arguments	2.00	\$435.00	870.00	WJB
Feb-15-13	Meeting with Attorney Browning to discuss oral arguments	0.80	\$435.00	348.00	RFM
Feb-27-13	Continue preparations	1.50	\$435.00	652.50	WJB
Mar-02-13	Continued preparations for oral arguments	1.00	\$435.00	435.00	WJB
Mar-04-13	Continue preparations	1.00	\$435.00	435.00	WJB
Mar-07-13	Final preparations; attend oral arguments	3.00	\$435.00	1,305.00	WJB
	Email correspondence with Rene H. Reixach	0.80	\$205.00	164.00	DSB
Mar-08-13	Continue analysis for Supplemental Brief	3.10	\$435.00	1,348.50	WJB
Mar-11-13	Draft memo to Attorney Banas; Telephone conference with Sandra concerning status	1.10	\$435.00	478.50	WJB
Mar-14-13	Draft Supplemental Brief	2.00	\$205.00	410.00	DSB
Mar-15-13	Research for Attorney Banas.	1.60	\$205.00	328.00	DSA
Mar-18-13	Draft Supplemental Brief	3.10	\$205.00	635.50	DSB
Mar-19-13	Work on Supplemental Brief	0.90	\$435.00	391.50	WJB
	Revise Supplemental Brief	2.00	\$205.00	410.00	DSB

Invoice #:	35107	Page 9	May 30, 2014			
Mar-20-13	Work on Supplemental Brief	1.70	\$435.00	739.50	WJB	
	Revise Hughes Supplemental Brief	1.50	\$205.00	307.50	DSB	
Mar-21-13	File Supplemental Brief	0.80	\$205.00	164.00	DSB	
Mar-22-13	Email correspondence with Attorney Browning	0.20	\$205.00	41.00	DSB	
Jul-24-13	Review of March through June related decisions; memo to Attorney Banas	1.00	\$435.00	435.00	WJB	
Jul-26-13	Draft Citation of Support Authorities	1.20	\$205.00	246.00	DSB	
Aug-06-13	Work on 2nd Draft Hughes Supplemental Brief	2.00	\$205.00	410.00	DSB	
Aug-07-13	Draft Hughes Brief	2.50	\$205.00	512.50	DSB	
Aug-09-13	Work Supplemental Brief	1.00	\$435.00	435.00	WJB	
Aug-12-13	Conference with Attorney Banas concerning brief	0.50	\$435.00	217.50	WJB	
	Review Attorney Browning's edits and revisions to Supplemental Brief Draft; Discuss with Attorney Browning addition of section describing annuities and how they work; research file	1.70	\$205.00	348.50	DSB	
Aug-13-13	Review Supplemental Brief; comments to Attorney Banas	0.80	\$435.00	348.00	RFM	
	Review and Revise Supplemental Brief	4.60	\$205.00	943.00	DSB	
Aug-14-13	Read and proofread brief for Attorney Banas.	1.90	\$205.00	389.50	DSA	
Aug-15-13	Work on Brief and Annuity explanation	0.70	\$435.00	304.50	WJB	
	Revise and revise Supplemental Brief	3.20	\$205.00	656.00	DSB	
Aug-16-13	Work on Brief; Conference with Attorney Banas	2.70	\$435.00	1,174.50	WJB	
	Review brief for Attorney Banas.	0.30	\$205.00	61.50	DSA	
Aug-19-13	Final revisions to brief	0.40	\$435.00	174.00	WJB	
	Proofread appeals brief for Attorney Banas.	0.50	\$205.00	102.50	DSA	
	Submit Hughes Brief	2.50	\$205.00	512.50	DSB	

Invoice #:	35107	Page 10	May 30, 2014			
Aug-20-13	Review State's Supplemental Brief	1.00	\$205.00	205.00	DSB	
Aug-21-13	Review of State's Final Brief	0.50	\$435.00	217.50	WJB	
Oct-26-13	Review decision; email correspondence with Attorney Browning	0.60	\$205.00	123.00	DSB	
Oct-28-13	Meeting with Attorney Browning regarding decision	0.80	\$435.00	348.00	RFM	
	Review of 6th Circuit decision; outline actions to pursue with District Court	0.70	\$435.00	304.50	WJB	
	Contact Sandra Cleaver; email decision	0.30	\$205.00	61.50	DSB	
Nov-08-13	Research federal rules of procedure regarding en banc review; remand procedure	1.90	\$205.00	389.50	DSB	
Dec-23-13	Attend Status Conference	0.50	\$435.00	217.50	WJB	
Feb-05-14	Begin Hughes Brief drafting	2.00	\$205.00	410.00	DSB	
Feb-06-14	Drafting opposition to petition for cert; research supreme court rules; contact publisher; draft opposition to cert petition	4.00	\$205.00	820.00	DSB	
Feb-11-14	Work on Response to Writ for Cert	1.20	\$435.00	522.00	WJB	
Feb-17-14	Work on Memorandum Contra Cert.; Conference with Attorney Banas	1.80	\$435.00	783.00	WJB	
Feb-18-14	Work on Memorandum Contra Cert	1.30	\$435.00	565.50	WJB	
Feb-20-14	Review brief; Meet with Attorney Banas regarding brief.	1.10	\$205.00	225.50	DSA	
Feb-21-14	Final proofread.	0.60	\$205.00	123.00	DSA	
	Work on Opposition to Petition for Writ of Certiorari	2.50	\$205.00	512.50	DSB	
Feb-24-14	Review Brief Proof from Cockle	2.50	\$205.00	512.50	DSB	
Feb-25-14	Reply to Cockle with revisions	2.00	\$205.00	410.00	DSB	
Feb-27-14	Contact publisher to confirm delivery	0.30	\$205.00	61.50	DSB	
<b>Mar-07-14</b>	Conference with Attorney Banas concerning order from court and avoidance of remand to ODJFS	0.50	\$435.00	217.50	WJB	

Invoice #: 35107

Page 11

May 30, 2014

	Discuss proposed Order in Common Pleas with Attorney Browning	0.20	\$205.00	41.00	DSB
Mar-13-14	Review of State's Reply to US Supreme Court	0.70	\$435.00	304.50	WJB
Apr-01-14	Discussion with Attorney Browning regarding Hughes Case and ongoing litigation	0.80	\$435.00	348.00	RFM
Apr-07-14	Discuss request for State to withdraw appeal	0.20	\$205.00	41.00	DSB
Apr-10-14	Conference with J. Pecquet concerning ongoing annuity litigation and compliance with Hughes	0.50	\$435.00	217.50	WJB
May-02-14	Draft letter to AG concerning compliance with decision	0.50	\$435.00	217.50	WJB
	Totals	272.80		<u>\$71,173.00</u>	

**DISBURSEMENTS**

		<b>Disbursements</b>	<b>Receipts</b>
Mar-07-13	Mileage to U.S. 6th Circuit Court - 117.52 X 2 X .55	129.27	
	Lodging	624.62	
Feb-25-14	Professional Services	287.32	
Mar-21-14	Publication of Brief	325.00	
	Totals	<u>\$1,366.21</u>	<u>\$0.00</u>

**Total Fees & Disbursements**

**\$72,539.21**

Previous Balance

\$0.00

Previous Payments

\$0.00

**Balance Due Now**

**\$72,539.21**

**Please remit to Browning & Meyer Co. LPA.  
Please include the File # on the check. Thank you.**

**Payment by Mastercard, Visa and Discover is now available for your convenience. Please contact Marcy at (614) 471-0085 or (866) 88-ELDER if you would like to use this service.**

**Browning & Meyer Co., LPA**

300 W. Wilson Bridge Road  
 Suite 250  
 Worthington, OH 43085

Ph: 614-471-0085

Fax: 614-430-8132

Sandra Cleaver, Esq.  
 4917 Munson St., N.W.  
 P.O. Box 35007  
 Canton, OH 44735

November 4, 2014

File #: 4987-litn  
 Inv #: 36204

**Attention:**

**RE:** Medicaid Litigation for Carole L. Hughes

DATE	DESCRIPTION	HOURS	RATE	AMOUNT	LAWYER
Jun-04-14	Review of compliance issues	0.40	\$435.00	174.00	WJB
Jun-09-14	Continue work on Injunctive measures; continue review of proposed relief; Review of 5-24-14 Administrative Appeal decision	1.80	\$435.00	783.00	WJB
Jun-10-14	Conference with Attorney Banas concerning parameters for motion for injunctive relief	0.70	\$435.00	304.50	WJB
	Meeting with Attorney Browning regarding Motion for Injunctive Relief	0.70	\$205.00	143.50	DSB
Jun-11-14	Meeting with Attorney Browning regarding file	0.50	\$435.00	217.50	RFM
	Conference with Attorney Banas and Attorney Meyer concerning grand writs and proposed order	0.50	\$435.00	217.50	WJB
	Meeting with Attorney Browning regarding proposed order	0.50	\$205.00	102.50	DSB
Jun-12-14	Review of constitutional issues; review of compliance and 209b issues; meeting with Attorney Banas concerning motion	2.70	\$435.00	1,174.50	WJB
	Meeting with Attorney Browning to discuss Hughes	1.50	\$205.00	307.50	DSB
Jun-25-14	Draft Motion for Injunction	2.50	\$205.00	512.50	DSB
Jun-26-14	Work on Motion for Injunctive Relief	1.10	\$435.00	478.50	WJB

Jun-27-14	Telephone conference with R. Goodman, Esq. Concerning administrative appeal decision ignoring Hughes; Review of decision; conference with Attorney Banas concerning Wagner decision	1.60	\$435.00	696.00	WJB
Jun-30-14	Prepare for status conference; attend telephone status conference	1.60	\$435.00	696.00	WJB
	Attend telephone Status Conference	1.60	\$205.00	328.00	DSB
Jul-17-14	Conference with Attorney Banas concerning state hearing decisions and reply	0.90	\$435.00	391.50	WJB
	Conference with Attorney Browning regarding Reply memorandum	0.90	\$205.00	184.50	DSB
Jul-25-14	Review of Immel arguments with Attorney Banas; Work on Reply Memorandum	3.70	\$435.00	1,609.50	WJB
	Meeting with Attorney Browning; review of Immel arguments	1.00	\$205.00	205.00	DSB
Jul-29-14	Work on Reply Brief	3.10	\$435.00	1,348.50	WJB
	Finish Work on Hughes Reply	2.50	\$205.00	512.50	DSB
Aug-13-14	Conference with Attorney Banas to discuss status and hearing strategy	0.50	\$435.00	217.50	WJB
	Conference with Attorney Browning to discuss strategy	0.50	\$205.00	102.50	DSB
Sep-16-14	Start preparation for Oral Hearing; Outline probable witnesses	0.80	\$435.00	348.00	WJB
Oct-01-14	Review of injunction strategy in light of Wagner injunction	0.80	\$435.00	348.00	WJB
Oct-18-14	Continue preparation for hearing; review of AG's supplemental authority	2.30	\$435.00	1,000.50	WJB
Oct-21-14	Conference with Attorney Banas concerning proposed entries	0.70	\$435.00	304.50	WJB
	Prepare for Oral Argument and Draft Proposed Entries; meeting with Attorney Browning	3.00	\$205.00	615.00	DSB
Oct-22-14	Continue preparation for hearing	0.70	\$435.00	304.50	WJB
	Draft Hughes Supplemental Filing; Prepare for e-filing	2.00	\$205.00	410.00	DSB
Oct-23-14	Prepare for Hearing, research Edelman case; travel	4.00	\$205.00	820.00	DSB
Oct-24-14	Travel to Youngstown; attend hearing	7.00	\$435.00	3,045.00	WJB

Invoice #: 36204

Page 3

November 4, 2014

	Travel; Attend Hearing	7.00	\$205.00	1,435.00	DSB
Oct-27-14	Conference with Attorney Banas concerning efforts necessary to conclude action in ND of Ohio	0.30	\$435.00	130.50	WJB
	Discuss hearing and strategy going forward with Attorney Browning	0.30	\$205.00	61.50	DSB
	<b>Totals</b>	<b>59.70</b>		<b>\$19,529.50</b>	

**DISBURSEMENTS**

		<b>Disbursements</b>	<b>Receipts</b>
Oct-17-14	Filing Fee - Hughes	120.00	
Oct-24-14	Mileage - 310 X .56 Atty. Browning	173.00	
	Mileage - 310 X .56 - Attorney Banas	173.60	
	<b>Totals</b>	<b>\$466.60</b>	<b>\$0.00</b>

**Total Fees & Disbursements** **\$19,996.10**

Previous Balance \$72,539.21

Previous Payments \$0.00

**Balance Due Now** **\$92,535.31**

**Please remit to Browning & Meyer Co. LPA.  
Please include the File # on the check. Thank you.**

**Payment by Mastercard, Visa and Discover is now available for your convenience. Please contact Marcy at (614) 471-0085 or (866) 88-ELDER if you would like to use this service.**